
CHEMISTRY

BOOKS - OSWAL PUBLICATION

NTSE 2019 - 20

Chemistry Metal And Non Metals Stage 1

1. Identify the correct order of elements

according to their metallic character.

A. B > AI > Mg > K

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cNxy8QjhL7Ow


Chemistry Metal And Non Metals Stage 2

B. 

C. 

D. 

Answer: D

Watch Video Solution

AI > Mg > B > K

Mg > Ai > K > B

K > Mg > AI > B

1. Statement I : Sodium metal reacts violently

with water to produce heat and fire. 

https://dl.doubtnut.com/l/_cNxy8QjhL7Ow
https://dl.doubtnut.com/l/_uzNTWEwMVpVu


Statement II : Potassium metal reacts violently

with water to form potassium hydroxide and

hydrogen gas. 

Select the correct answer from the options given

below :

A. Statement I is true, Statement II is false.

B. Statements I is false, Statement II is true

C. Both Statements are true and Statements II

provides explanations to Statements I.

D. Both Statements are true but Statement II

does not Provides explanation to

https://dl.doubtnut.com/l/_uzNTWEwMVpVu


Statement I.

Answer: D

Watch Video Solution

2. The following observation are given for four

metals : 

(I) Metal H does not react with dilute HCI. 

(II) Metal K reacts with warm water. 

(III) Metal L does not react with water but

displaces metal H from its aqueous salt solution. 

(IV) Metal M reacts with cold water. 

https://dl.doubtnut.com/l/_uzNTWEwMVpVu
https://dl.doubtnut.com/l/_gcbEouaeW7iG


Chemistry Carbon And Its Compounds Stage 1

Choose the correct decreasing order of reactivity

of the metals amongst among the following :

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

M > L > H > K

K > M > H > L

M > K > L > H

L > H > K > M

https://dl.doubtnut.com/l/_gcbEouaeW7iG


1. Reaction with sodium hydrogen carbonate can

be used to distinguish between : \

A. Ethanoic acid and Methanoic acid

B. Ethanol and Methanol

C. Ethanol and Ethanoic acid

D. Ethylacetate and Ethanol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PhV2OzpVYQxy


2. Identify the solid acid at room temperature.

A. 

B. 

C. 

D. HCOOH

Answer: A

Watch Video Solution

COOH

∣
COO

CH3COOH

H2CO3

https://dl.doubtnut.com/l/_3KxJmgjftcaq


3. When water gas mixed with half its volume of

hydrogen and the mixture is compressed to 300

atm. Pressure and passed over 

catalyst. A coloures liquid is obtained which is

used as solvent for paints and varnishes. The

liquid will be :

A. Methanol

B. Ethanol and Methanol

C. ether

D. acetone

ZnO − Cr2O3

https://dl.doubtnut.com/l/_K2sCCm78wE5K


Chemistry Carbon And Its Compounds Stage 2

Answer: A

Watch Video Solution

1. An organic compound A on heating with

concentrated  gave product B and on

warming with alkaline  gave compound

C. Compound A on heating with compound C in

presence of concentrated  formed

H2SO4

KMnO4

H2SO4

https://dl.doubtnut.com/l/_K2sCCm78wE5K
https://dl.doubtnut.com/l/_YT3uGUAFVyd2


Compound D, which has fruity smell, Identify the

compounds A,B,C and D :

A. A = Alcohol, B = Carboxylic acid, 

C = Alkent, D = Ester,

B. A = Carboxylic acid, B = Ester, 

C = Alkene , D = Alcohol.

C. A = Alcohol, B = Alkene, 

C = Carboxylic acid, D = Ester.

D. A = Alkene, B = Alcohol, C = Ester, 

D = Carbocxylic acid.

https://dl.doubtnut.com/l/_YT3uGUAFVyd2


Answer: C

Watch Video Solution

2. Two organic compounds 'A' and 'B' react with

sodium metal and both produce the same gas 'X',

but with sodium hydrogen carbonate only

compound B reacts to give a gas 'Y'. Identify 'A'.

'B', 'X' and 'Y'.

A. A = Ethylene, B = Ehyl alochol, 

X - Carbon dioxide, Y - Hydrogen.

https://dl.doubtnut.com/l/_YT3uGUAFVyd2
https://dl.doubtnut.com/l/_248NtWJQhG8U


Chemistry Periodic Classification Of Elements Stage

1

B. A = Ethyl alcol, B = Acertic acid, 

X = Hydrogen, Y = Carbon diocxide.

C. A = Hydrogen, Y = Carbon dioxide. 

X = Hydrogen, Y = Carbon dioxide.

D. X = Carbon dioxide, Y = Hydrogen.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_248NtWJQhG8U
https://dl.doubtnut.com/l/_Fug2MpIGpzvU


1. Which block elements are called transition

elements ?

A. s - block

B. p - block

C. d - block

D. f - block

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Fug2MpIGpzvU


2. Manya, Kartik, Gurnoor and Sheena had

arranged the ions 

in decreasind orders of their ionic radii. 

 


 


 


 


Who had provided the correct order of their

decreasing ionic radii ?

A. Manya

B. Kartik

F − , Na+ , O2 − and Mg2 +

Manya   −O2 − > Mg2 + > F − > Na+

Kartik   −Mg2 + > Na+ > O2 − >−

Gurnoor  −O2 − > F −Na+ > Mg2 +

Sheema   −F − > Na+ > O2 − > Mg2 +

https://dl.doubtnut.com/l/_BINAyS1O2Sv3


C. Gunoor

D. Sheena

Answer: D

Watch Video Solution

3. Consider the elements A,B,C and D with atomic

numbers 11,12,16 and 17, respectively. Which

among the follwing statements regarding these

elements are correct ? 

(I) The element C will gain electron more easily

than element D. 

https://dl.doubtnut.com/l/_BINAyS1O2Sv3
https://dl.doubtnut.com/l/_v3lLPCo8f1dx


(II) The element B tends to lose electron more

readily than C. 

(III) The oxide of A will be least basic while that of

D will be most basic. 

(IV) The energy required to remove an electron

from outermost shell from A will be minimum

while that from D will be maximum.

A. I and III only

B. I and IV only

C. II and III only

D. II and IV only

https://dl.doubtnut.com/l/_v3lLPCo8f1dx


Answer: D

Watch Video Solution

4. Select the correct set of statements regarding

change in properties, as we move down the

second group in periodic table. 

(I) Atomic size increases. 

(II) Electronegativity increases. 

(III) Tendency to loose electrons increases. 

(IV) Valency remain same.

A. I,II and III

https://dl.doubtnut.com/l/_v3lLPCo8f1dx
https://dl.doubtnut.com/l/_xzy7EdW0gzht


B. II,III and IV0

C. I,II and IV

D. I,III and IV

Answer: D

Watch Video Solution

5. Which of the following options containing

formula, bonding and nature of aqeous solution

respectively is correct for the compound formed

https://dl.doubtnut.com/l/_xzy7EdW0gzht
https://dl.doubtnut.com/l/_LB3GId9KT7LU


Chemistry Chemical Reaction And Equations Stage 1

by two elements A and B having atomic numbers

1 and 17 , respectively?

A. AB, Ionic, Acidic

B. , Ionic, Basic

C. AB, Covalent Acidic

D. , Covalent, Neutral

Answer: C

Watch Video Solution

AB2

AB2

https://dl.doubtnut.com/l/_LB3GId9KT7LU


1. Choose the correct statements about the given

chemical reaction. 

 


1. Iron is getting oxidised. 

2. Water is getting reduced. 

3. Water is acting as reducing agent. 

4. Water is acting as oxidising agent.

A. 1,2 and 3

B. 3 and 4

C. 1,2 and 4

D. 2 and 3

3Fe(s) + 4H2O(g) → Fe3O4(s) + 4H2(g)

https://dl.doubtnut.com/l/_SjYH6Uk9pnin


Answer: C

Watch Video Solution

2. 15 ml of NaOH solution gets complete

neutralised with 10 ml of HCI solution. What

volume of the same HCI soluction will be

required to neutralise 30 ml of same NaOH

solution ?

A. 5 ml

B. 10 ml

https://dl.doubtnut.com/l/_SjYH6Uk9pnin
https://dl.doubtnut.com/l/_JoG4ADvEFrSB


Chemistry Chemical Reaction And Equations Stage

2

C. 15 ml

D. 20 ml

Answer: D

Watch Video Solution

1. Which of the following set of reactions will Not

occur ? 

(I) 

https://dl.doubtnut.com/l/_JoG4ADvEFrSB
https://dl.doubtnut.com/l/_TvkpNIcarYtj


 


(II) 

 


(III) 

 


(IV) 

A. I and III

B. II and IV

C. I,II and III

D. II,III and IV

MgSO4(aq) + Fe(s) → FeSO4(aq) + Mg(s)

CuSO4(aq) + Fe(s) → FeSO4(aq) + Cu(s)

MgSO4(aq) + Cu(s) → CuSO4(aq) + Mg(s)

CuSO4(aq) + Zn(s) → ZnSO4(aq) + CU(s)

https://dl.doubtnut.com/l/_TvkpNIcarYtj


Answer: A

Watch Video Solution

2. Match chemical reactions given in the List I

with the type chemical reactions given in List II

and select the correct answer using the option

https://dl.doubtnut.com/l/_TvkpNIcarYtj
https://dl.doubtnut.com/l/_HPxO7xrQpAVm


given below : 

A. A-I, B-V,C-III,D-IV

B. A-III,B-IV,C-V,D-I

C. A-IV,B-III,C-V,D-I

D. A-III,B-I,C-II,D-IV

https://dl.doubtnut.com/l/_HPxO7xrQpAVm


Chemistry Acids Bases And Salts Stage 1

Answer: D

Watch Video Solution

1. Which of these salts will given acidic solution ?

A. 

B. 

C. 

D. COONa

NaCO3

NaCI

NH4CI

https://dl.doubtnut.com/l/_HPxO7xrQpAVm
https://dl.doubtnut.com/l/_xRZ7dlpOyodI


Answer: C

Watch Video Solution

2. pH is defined as :

A. 

B. 

C. 

D. 

Answer: A

h id l i

−log[H3O+ ]

−log[H2O]

−log[OH − ]

−log[H 2][OH − ]

https://dl.doubtnut.com/l/_xRZ7dlpOyodI
https://dl.doubtnut.com/l/_xVrwqoAKvYiK


Watch Video Solution

3. A solution turns methyl orange into yellow. The

approximate pH of solution is : \

A. 1.2 - 2.8

B. 3.1 - 4.4

C. 6.0 - 7.6

D. 8.3 - 10.00

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_xVrwqoAKvYiK
https://dl.doubtnut.com/l/_mNDiEq47ApbC


4. Aqueous solution of  is :

A. Acidic

B. Basic

C. Neutral

D. Amphoteric

Answer: A

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_IjcDaIDUNs31


5. In which of the following ink silver nitrate is

used ?

A. Voting ink0

B. Writing ink

C. Printing ink

D. Marker pen ink

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hg2lJqSfckoV


Chemistry Acids Bases And Salts Stage 2

1. You are provided with aqueous solutions of

three salts - A,B and C,2-3 drops of blue litmus

solution, red litmus solution and phenophtanlein

were added to each of these solution in separate

experiment. The change in colour of different

indicators were recorded in the following table : 

 

https://dl.doubtnut.com/l/_uMMpXsVQw7eW


On the basis of above observation, identify A,B,

and C from the following options :

A. 

B. 

C. 

D. 

A = NH4CI, B = NaCI, C = CH3COONa

A = NH4CI, B = CH3COONa, C = NaCI

A = NaCI, B = NH4CI, C = CH3COONa

A = CH3COONa, B = NH4CI, C = NaCI

https://dl.doubtnut.com/l/_uMMpXsVQw7eW


Chemistry Matter In Our Surroundings Stage 2

Answer: C

Watch Video Solution

1. Material I (Mixtrue) and List - II (type) with the

List-III (I-sample) and select the correct answer

from the confirmation given below : 

https://dl.doubtnut.com/l/_uMMpXsVQw7eW
https://dl.doubtnut.com/l/_djeFHF3YZrxu


Chemistry Structure Of Atom Stage 1

A. A-3-II, B- 2-III,C-4-IV

B. A-2-1,B-I-III,C-3-II

C. A-I-III,B-2,II,C-3-I

D. A-I-II,B-4-I,C-2-III

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_djeFHF3YZrxu


1. Element having highest atomic radius among

the following is :

A. Li

B. Be

C. B

D. C

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uCMX8US9mzpF


2. Number of valence electrons in  ion are:

A. 16

B. 8

C. 17

D. 18

Answer: B

Watch Video Solution

Cl–

https://dl.doubtnut.com/l/_QhaDCOPuzeWg


3. Isoelectronic speices are : 

A. a,b and c

B. a,c and d

C. a,b and d

D. a,b,c and d

Answer: A

Watch Video Solution

a. Na+  b. AI 3 +  c. Mg2 +  d. Ca2 +

https://dl.doubtnut.com/l/_Dx38lnaAHABV


Chemistry Atoms And Molecules Stage 1

1. Number of neutrons in isotope of hydrogen,

tritium is :

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iHhcdRZZ3Y2v


2. Molecule containing coordinate covalent bond

among the following is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O

HNO3

BaCI2

CaO

https://dl.doubtnut.com/l/_s1AlXPm4E2xi


Chemistry Atoms And Molecules Stage 2

1. You are provided with 18 g each of

. Which of the following

is the correct decreasing order of number of

atoms present in these samples ?

A. 

B. 

C. 

D. 

Answer: A

O2, N2, CH4 and H2O

CH4 > H2O > N2 > O2

O2 > N2 > H2O > CH4

CH4 > N2 > O2 > H2O

N2 > H2O > O2 > CH4

https://dl.doubtnut.com/l/_U0jQeoOYAGtK


Watch Video Solution

https://dl.doubtnut.com/l/_U0jQeoOYAGtK

